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1. Options shown in green color with a tick icon are correct

2. Chosen option on top right of the question indicates the option selected by the candidate

Q1 wrargH A 7T T 170 3 w Aea T 130 €, ge Hrax T i)

The rate of discount on an article whose marked price is ¥ 170 and selling price is ¥ 130

is:

Ans X 1.23.60%
X 2. 24.26%
V'3 23.53%
X 4.22.45%

Question ID : 9864492548
Status : Not Answered
Chosen Option : --

Q.2 gzt & ofirm &9 2017 & g F wEad # 6Rd F Fw a7 S g ar?
‘Which team did India defeat in the final of the 2017 Men’s Asia Cup Hockey to claim the

title?

Ans TR

EICIEE

Question ID : 9864492299
Status : Answered
Chosen Option :2

@ e I A A FaAT ohE & H FAES AT &2
The energy stored in a dry cell is in the form of:

Ans Tlﬁ?f ?’Gﬁ.

r 0

Kinetic energy
V2 At Far
Chemical energy

x 3 Rfasr =
Potential energy

x

4_;nﬁ4ﬁirﬁﬁ

Nuclear energy

Question ID : 9864493561
Status : Answered
Chosen Option :2




Q4 37 fFeT # 999 = A FeAERT =& mgg:% alert In Question ID : 9864494011

Status : Answered

§ % Chosen Option : 2

Select the option that represents the number of triangles in the following figure.

A\

Ans x 1.3
X2 4
X 36
vi5
Q5 7 78T FT TIT FL AT g o gafaa 74 gl Question ID : 9864493684

Status : Answered
Chosen Option :2

PIE[T]|O

1 2 3 4
Select the letter which does NOT belong to the group.

PIE|T|O

12 3 4
Ans X 1.4
W21
X3 2
X4 3

Q.6 a% 2017 # oFE AT daer ags o ‘A ok U Toleae WHE & AT P () AV Cr R
T F w7 #F IREE wET e ¥ B A e S o uestion 1~

‘Which Indian tabla player won the Grammy Award for his collaborative music with ‘The Status : Answered
Silk Road Ensemble’ group in 2017? Chosen Option : 3

Ans
x 1 Trerer THET
Yogesh Samsi

K2 g
Zakir Hussein
Sandeep Das

x4 Far ferar
Rimpa Shiva

Q760 FT 15 % F 45% & FUET 2 Question ID : 9864492746
15% of 60 is 45% of Status : Not Answered

Chosen Option : --
Ans x 1. 30

< 2.180
X 340



W 420
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Q.8 R a1 yea I eI ¢ Y aa¢ T gEH seR & & fow TR
FUeAl # E FeT =T B

A T BRE ¥ # A7 ge 97

YA
1. THAT F T 39 o & 25 @ o d
2.muﬁeraﬁra37ra‘r1974ﬁdar§ézﬁ3aﬁ;ﬁmﬁ35mtﬁ-@rm

Consider the given question and decide which of the following statements is sufficient to
answer the question.

What is the birth year of Mr. Rajesh?
Statements:

1. At present Mr. Rajesh is 25 years younger to his father
2. Mr. Rajesh’s sister who was born on 1974 is 35 years younger to his father

Ans ‘,1_
FUT 1 3R Faa 2 At gaeg &

Both statements 1 and 2 are sufficient
<2
Fad FUT 2 AT & FGF daol FUAT 1 AT &

Statement 2 alone is sufficient while 1 alone is insufficient

X 3.
FFAT FUT 1 AT § Fafh had HUT 2 FHIATT ¢

Statement 1 alone is sufficient while statement 2 alone is insufficient

o PYUA 1 AT HUA 2 qEATT §
Either statement 1 or 2 1s sufficient

Question ID : 9864493702
Status : Not Answered
Chosen Option : --

O gt & o el A AT 3T HiT AT E?
The essential organs in a flower for reproduction are:

Ans TR AT TR
SR
the stamen and pistil

| TEHEH R THE

| the sepal and stamen
e AR g
| the sepal and petal

| T AR I
“the petal and pistil

x

x

X

Question ID : 9864493077
Status : Not Answered
Chosen Option : --

Q10 oo ey .39 & F1 v A1 F oREfdg @ar § 2

In a plant, which of the following is converted into seed?

Ans a:IG"-UT
&) =2

ovule
X2 3SR
ovary

Question ID : 9864493298
Status : Not Answered
Chosen Option : --




. et
style

x4_aﬁm

stigma

X3
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A1 2 greg wr & e 2 F forme Siea Fr s

How much does one need to add to g to obtain g?

Question ID : 9864493022
Status : Answered
Chosen Option : 4

Ans . 4
1. —
5
. 1.5
K2 =
1
o 3 —
-1
. 5
K4 =
&
Q12 7o #{ & Fua F & 75 TEHY F T FA-H FAT TR T F

Ans

FTELOT FLA ¢

T
T A FEIE # U T § i SHT THATT 4eT Hs-gues A aF FAT I
S Ig IS T TG o

BF‘F'IH

1. 38 #Af e § & 77 38% & @ aerdr o

2. 9 AT HrEar ¥ & $99T 38+ 31 A8 2

Consider the argument and decide which of the given assumptions is/are implicit.

Argument:

A mother is crying in the hospital as her only son died in a road accident while driving his
bike.

Assumptions:

1. The mother thinks it’s her son’s fault.
2. The mother thinks that God is not with her.

F !
A 1 3R 2 A & argEr = €

Both 1 and 2 are implicit

v )
T P IFFAT 1 FTEIUT AT ¢ AR T & 2

Neither 1 nor 2 is implicit

~ A HART 2 HeTEIUT HIl &
Only assumption 2 is implicit
- AT AT 1 AT LT &

Only assumption 1 is implicit

Question ID : 9864493885
Status : Answered
Chosen Option :1

Q13 3R Wgh & WA TEAl F T AU g H T B

Ans

BEAK : EIFQ :: SAIL :

Select the missing term from the related pair of letter clusters.
BEAK : EIFQ :: SAIL :

# 1. VERN

Question ID : 9864493923
Status : Answered
Chosen Option :2




v 2 VENR
# 3 RENV
# 4 VREN
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Q14 & 2020 FT Forst FIT T I§ F TAF 2N
The calendar for the year 2020 will be the same for the year:
Ans X 1.2076
V' 2. 2044
X 3.2096
X 4.2040

Question ID : 9864492574
Status : Not Answered
Chosen Option : --

Ans

Question ID : 9864494029
Status : Answered
Chosen Option : 3

Q.16 333 ¥ FiT T T FeENNT g # 39ua AW F w5 F 3R |
AT W F AT THBAT & ?

‘Which of the following glows with special colour depending on the nature of gas in the
fluorescent tube?

Ans aﬁ_qﬂ.
F !

Helium

QEEEC

X2
Hydrogen

T

Question ID : 9864493288
Status : Not Answered
Chosen Option : --




2 Y- EeRT guad
Bose-Einstein condensate
v CollHAT

Plasma
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U7 e Tehel HTgfed & TGS HT FAT FHgl AT &

A sound of single frequency is called a:

Ans . Béﬁl'
Hertz
AR
Pitch
X Al
Note

et

Tone

X2

v

Question ID : 9864493503
Status : Answered
Chosen Option : 1

A1 6561 T T FAT EEM

What is the square root of 65617
Ans v’ 181
X 2.77
X 3.89
X 479

Question ID : 9864492743
Status : Answered
Chosen Option : 1

Q.19 warar: 20 B 3 50 freiame a5 awlr a1 avgat & &= arwdor & aw
forarem 21, Iy 3= A1 g 2 AT @

‘What will be the force of attraction between two bodies weighing 20 kg and 50 kg,
respectively, with a distance of 2 metre between them?

Ans X 1.16.67 x5 1°N
K 2667 x 10711 N
/316,675 x 10711 N
v 4.166.75 x 1071° N

Question ID : 9864493380
Status : Not Answered
Chosen Option : --

Q20 g FE=W A,B,C T DsH YR § F A dlwa 16 81 A 3k B =T
sitEa o5 31 ¢ 3t D Fr stag T gem?

Four numbers A, B, C and D are such that their overall average is 16. The average of A
and B is 9.5. The average of C and D is:

Ans  of 1.22.5
X 223
X 3255
X 4215

Question ID : 9864492818
Status : Not Answered
Chosen Option : --

Q.21 ves UIgY U T 2 HE S Thal §1 T S91g W e @1 & ST SR a6 s
ﬁz%mmwm%d@rﬂ:qﬁﬁaﬁrmﬁ Tobesl HHT H Qe T HehaT 87

A pipe can fill a sump with water in 2 hours. Because of a leak, it took 2 S hours to fill the
sump. The leak can drain all the water of the sump in:

Ans x
X 1 6 e

6 hours

Question ID : 9864492492
Status : Answered
Chosen Option : 3




x2_11€i€

11 hours

s 8T
8 hours

15 5
15 hours

< 4
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Q.22 p 77 Fa@ IeT TCHF I &, [ P & 93 Wo ueleAw Uit N a
ST=F TEITHT & U1 3 &7 & forgr s g g1 3P &

‘P’ is the smallest positive integer such that every positive integer N greater than ‘P* can
be written as a sum of two composite numbers. Then ‘P’ is:

Ans x1_ 3
v
X336
< 410

Question ID : 9864492604
Status : Not Answered
Chosen Option : --

i &

In the series 5442673314884743581, the number that is sixth from the left of the seventh
term from the right is:

Ans «'1,3
X 27
X3 4
X 41

Question ID : 9864494385
Status : Not Answered
Chosen Option : --

Q.24 o T 37g F T e or ifenfer 3w & =@ =ifey & wifoele &= &

ST e -

The tendency of undisturbed objects to stay at rest or to keep moving with the same
velocity is called:

Ans X1a-ﬂ-

Q.23 5442673314884743581 Tifta #, o T & A9 U5 ¥ € ¥ T wEAT
velocity

Question ID : 9864493199
Status : Not Answered
Chosen Option : --

Q25 G5 afi9er GO WIS TAFE 2017 i F ARAT F Sfar am
Which Indian won the 2017 French Open Super series tournament?

Ans 5 T g
George Thomas
| Anilkumar Raju
. A R
Srikanth Kidambi
| BT g

Dipankar Bhattacharya

x

x

Question ID : 9864492250
Status : Not Answered
Chosen Option : --




Q.26 iﬁf E'I?:ﬁ?-l' FII FTaT %.:
Growth hormones function:
Ans 1 g S st FET A
always as growth inhibitors
3 gHIT T&ehTH WicHTE® & §T H
always as growth promotors

s Fafl el A SRS H ®IH
rarely as growth promotors

v 2
Fefr-Feft faere dicargss 3T Fei-arel A 3eusF F &
sometimes as growth promotors and sometimes as growth inhibitors
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Question ID : 9864493136
Status : Not Answered
Chosen Option : --

Q27 ey @1 TARN FaF TH 9T B FIR A AT FAT € 2
Which permanent tissue makes a plant hard and stiff?

Ans {1_miﬂ$|3m

Sclerenchma

TARTEAT

| Aerenchyma

NAFTZAT

| Parenchyma

FIAARISAT

| Collenchymas

X2

X3

p

Question ID : 9864493255
Status : Answered
Chosen Option : 4

Q.28 i o i
sin 30 + 1+ cos 30 =~
1 + cos20° sinz0”

sin 30° 1+ cos 30° _
1+ cos30® sinz0°

Ans x1.1
X 22
X33
V4

Question ID : 9864492877
Status : Answered
Chosen Option : 1

Q29 wradt 2018 W, A FUA F ARAT AT F L3 B 872
As of February 2018, who is the India-born CEO of the Nokia company?

Ans T g3
v &) -
Rajeev Suri

Tex =g
Sundar Pichai

, T Fsen
Satya Nadella

| FrorETer fag ==
Ajaypal Singh Banga

K2

<

Question ID : 9864492174
Status : Answered
Chosen Option : 4
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Q.30 X #r 3 Fhe F T, ¥ FEAr &, X & A A F v R
Y X &1 gl
Pointing at X, Y says, “X is the son of the only son of my mother”. Then Y is X’s

Ans xm *ﬂé'

Brother

HAL
K2 °
Father-in-law

LG

Father
arar

Grandfather

W 3

X4

Question ID : 9864493908
Status : Answered
Chosen Option :1

Q.31 weh qEEoT &7 71 x 10* Hz $r 39T 38k 3108 Hrex vy p & arfar & wner st
T FHNE T & T A A

A broadcasting station transmits waves with a frequency of 71 » 10* Hz and a speed of
3x10° m/s. The wavelength of the wave is:

Ans x 5 324.6 AT
324.6 m
418.8 HIEY
418.8 m
208.4 HIEY
208.4m
422.5 BT
422.5m

<2

< 3.

W 4

Question ID : 9864493104
Status : Not Answered
Chosen Option : --

Q.32 A o & T fel & § e F e o FAS e T SEIT S
&, 37 fareT &7 =aa &Y &7 B B 7 v 71v waw R (?) # 98 Thar
2l

101 43 48 34

38

35 15 56 184
A B

Assuming that the numbers in each of the following figures follow a similar pattern, select
the option that can replace the question mark (?) in figure B.

101 43 48 34

38

35 15 56 184
A B

Ans X 1.127
#2136
V3142
<4128

Question ID : 9864494259
Status : Not Answered
Chosen Option : --

33 Ar=faf@a ¥ QA i ggaeT S
Identify the odd one out from the following:
qarq
s 7
Air
ot

Mulk

Ans

X 2

Question ID : 9864493407
Status : Not Answered
Chosen Option : --




e eng
X -
Alloy
v T
Water
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Q.34 T
forer aftayr 7 Rega waE BFes R w8 87
What enables an electric current to flow in a circuit?

Ans =
x1_qﬁ_§|ﬂaﬁr='l‘i?—'r

The motion of positrons
x5, TR T 3T
The motion of neutrons
et #r
The motion of protons
., T

The motion of electrons

x

Question ID : 9864493325
Status : Answered
Chosen Option : 4

Q.35 Fi=F A1 3eaT-3F S (Answer Figure) & 71§ Wed-31F{ (Problem Figure) T
e gHuT wfafE E?

Answer Figures

elieiballs

A B C D
Which of the Answer Figures is the correct mirror image of the given Problem Figure?

Answer Figures

(||

Ans x1_B
X2C
X3 A
v D

Question ID : 9864494063
Status : Answered
Chosen Option : 4

Q.36 X, 94 W F Fead &aT § AT 3T 141 3 Ty &) o v g A F
Rr4sFRraafivodFs T s F AT 1 ¥F Fa FAT§ ar X
AN BT a1 Tea el F wEm gl

X attempts 94 questions and gets 141 marks. If for every correct answer 4 marks is given,
and for every wrong answer 1 mark is deducted, then the number of questions wrongly
answered by X is

Question ID : 9864494021
Status : Not Answered
Chosen Option : --




Ans x1_45
X 257
V'3 47
x4 40
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Q.37 fafiew aféat ganr sha 1T et & vear feafafla afes & & 7 ¥

Question ID : 9864494126
Status : Answered
Chosen Option : 2

e, | wiét | gferor | g8 | afees | sew
1 A 40 |37 35 27
2 B 6 |26 76 86
3 C 83 |71 4 21
4 D 1 7 3 11

Ao % 3Tst & TR W i@ a a9 4

ot B & &7 ¥ Tel ey W S
Parties and the seats won by them are listed in the following table.

S.No. |Party |South | East | West | North
1 A 40 37 35 27
2 B 6 26 76 86
3 C 83 71 4 21
4 D 1 7 3 11

Based on the given data, complete the following sentence:

Party B won the largest number of seats from the .

Ans x1a%.m-

Q.38 forcey THT 7 T 4400 AT T 8% STRH &T T 4576 &1 L, Fafh Ig Thgia

AT AT HAoa 2iar &7

In what time will T 4400 become ¥ 4576 at 8% per annum interest compounded half —

yearly?

Ans x1, 7 HIg

7 months

Question ID : 9864492546
Status : Not Answered
Chosen Option : --

Q.39

Question ID : 9864493838
Status : Not Answered




oot et v e e e AR SGQVHADSRIETLIN,

FEU:
HehalT|

forsa:
1. AT F U ¥ W HINT A T Fellg & S AR
2. GE T HHETET % WY FEANET S dr Telg & ST =T

Decide which of the conclusions logically follow(s) from the information given in the
statement.

Statement:
A company cannot make profit unless both, management and employees work together.

Conclusions:

1. The workers should be advised to cooperate with the management.
2. The management must be advised to cooperate with the employees.

Ans - et TTSHY 2 HTETOT AT &
1.

Only conclusion 2 follows
- Faer w1 TETOT T &
2.
Only conclusion 1 follows

s, AT 2 T A

Neither 1 nor 2 follows
1 AR 2 g et F
Both 1 and 2 follow

v

Q.40 =R # @ #i9 agwng 3w F eEr & F = § ¥ v 747 9r?
‘Who among the following was NOT one of the ‘Nine Gems’ of Emperor Akbar’s court?

Ans x W—W Seal ﬂﬁﬂ?ﬁ
1.
Abu'l-Fazl ibn Mubarak

TR R
Fakir Aziao-Din

| 3T 37l Wt
Osman Ali Khan

, T 3T AT
Raja Todar Mal

x

v

Question ID : 9864492093
Status : Not Answered
Chosen Option : --

Question ID : 9864494130
Status : Not Answered
Chosen Option : --




SRR
NN A MR v

fgr 71w fe # & v &1 A e AN suEer S I e g A
Frenfera fFar a3 & ¥ Ja Tag e @ HiF @

1 2 3 4 5
[ 7 8 9
If three groups could be formed using the given figures only once, these groups would be

?<1-(2’ 9, 6), (3, 4, 7) 3R (1, 5, 8)
(2,9,6),(3,4.7)and (1, 5. 8)

2 (1, 9, 4), (3, 4, 6) 3T (2, 5, 8
(1,9,4),(3,4,6)and (2, 5. 8)

v: (1, 9, 6), (3, 4, 7) 3k (2, 5, 8
(1,9,6),(3.4, 7)and (2, 5, 8)

o (1, 9, 6), (3, 5, 7) 3T (2, 4, 8
(1,9,6),(3.5,7)and (2, 4, 8)
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Q2R AW AR Hl i AT d T T a scw e s v A= &

HiT W FAT qIeT B

g aEa P, Q, R, S aw T folt ufdq & w2 &l ufeq & ma # w7 ¥

FYeT:

1. T & ot 3w Q &l
2PN THF T HFSE

Consider the given question and decide which of the following statements is sufficient t
answer the question.

Five people, P, Q, R, S and T, are standing in a line; who is in the middle?

Statements:

1. Qis to the left of T.
2. SisinbetweenP and T.

<1
FUA 2 3ol & 3W & TR F Socl &l H BEHA § W HYA 1 3hell &
3T & WA I Il & H WEA G 2l

2 alone is sufficient while 1 alone is not sufficient to answer the given question.

X2
FUT 1 3K FUF 2 a1 & IR F T & 3ccK & H T8 g
Both 1 and 2 are sufficient to answer the given question.

X3
&l 1 3ol &1 3UX & U & Icad &l A HEH § Wog HYUA 2 3ol &1

I F TR F 3cc{ & H HEH A4 &l
1 alone is sufficient while 2 alone is not sufficient to answer the given question.

Question ID : 9864494103
Status : Not Answered
Chosen Option : --




v 2
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A FueT 1 3 A1 & FUT 2 39T F N FH 3cal & H TEIH B

Neither 1 nor 2 is sufficient to answer the given question.

Q43 pH 7T 3 7 ¥ 14 7 H g§ R Fwwr sl w &

Ans

The pH value increase from 7 to 14 represents a:

OH 3= gl # Jha
increase in OH- ion concentration
H' 3mae @gar & gig
increase in H™ ion concentration
OH 3T Higar & FAr
decrease in OH- ion concentration
H" 3mae Jgar & &

decrease in H™ ion concentration

)

X2

X 3.

X4

Question ID : 9864493330
Status : Answered
Chosen Option : 1

Q.44 = o aw Fweat w wd A6 i 97 A w F Fuat @ wla 3 et

Ans

T dHEIT $9 T Tl &7 &7 2

FueT:
FE o A T A §) FE s Taw ¥ A ¥ T AW w9 A

sy

1. ®g oft aa 31\ A8 &
2. B oft ¥F Taw 7T ¥
3. T dR A &
4wl @ A B

Consider the given statements to be true and decide which of the conclusions logically
follow(s) from the statements.

Statement:
No mango is an orange. No orange is an apple. Some mangoes are apples.

Conclusions:
1. No apple is a mango.
2. No apple is an orange.

3. Some oranges are mangoes.
4. All apples are mangoes.

Ko
hael fAshY 2 3R 3 ST &7 9T 8 W@ §

Only conclusion 2 and 3 follow
X2
oo fsswy 1 a1 3 &7 ITAA & W@ &

Only conclusion 1 or 3 follow

xslmﬁl‘lﬁ?& 1 T 9Tl T ET &

Only conclusion 1 follows

ﬂﬁ?{ﬁl‘lﬁl—?&2a?rq|md W

Only conclusion 2 follows

Question ID : 9864493667
Status : Answered
Chosen Option : 4

Q.45 7fy v R 3 ArTH § T ae arer Regaunr 1§ 3 v seegia a amaere

Ans

2, It Uers F waTfad E1er STel SelergiAT sl HEAT F fhEes ArenH ¥ P e

HFATE?

If I is the current through a wire and e is the charge of an electron, then the number of
electrons crossing in ¢ seconds will be given by:

X 1. Ite

Question ID : 9864493106
Status : Not Answered
Chosen Option : --




v 2 Jile
X 3 oIt
X 4 Jeft
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Q.46 few arv aol gl & WefUd oA # uieyd ug 1 9T FIEv

Ans

RAMA : MARA :: SITA :

Find the missing term for the related pair of letter clusters.

RAMA: MARA = SITA:
v 1 TISA
X 2 TSAI
X3 TIAS
X+ SIAT

Question ID : 9864493746
Status : Answered
Chosen Option : 2

Q4T & ¢ FEw ST ¥ HIIRUT TEAT H TAA HY

Ans

4,9 20, 44, 7

Select the number missing from the given number series.

4,9,20,44,?
#<1.90
v 295
#3100
#< 480

Question ID :9864494273
Status : Not Answered
Chosen Option : --

Q.48

Ans

afaf@a § ¥ FiF a7 o9or 3T §2
Which of the following salts is acidic in nature?

X1 AR Terhe
Magnesium Sulphate

) 3AfATH BIEhe
Ammonium Phosphate
o, T e
Sodium Acetate
v TIETH FElae
Sodium Carbonate

x

Question ID : 9864493449
Status : Not Answered
Chosen Option : --

Q.49 Frafafaa & & #ia & arg 32 71 967 aeh & e gfafe o& s g e

Ans

Which of the following metals does NOT react with cold or hot water?

«113333111?1'&11

" Aluminium

Question ID : 9864493311
Status : Not Answered
Chosen Option : --




ORI

Potassium

X 4
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Q.50 & ¢ weA-3Tpia (Problem Figure) & 1% 3ea<-3epiaal (Answer Figures) &
¥ w & wfeafes &) w s s @ 2

Problem Figure
Answer Figures
A B C D

The given Problem Figure is embedded in one of the given Answer Figures. Which is that
Answer Figure?

Problem Figure
Answer Figures
A B C D
Ans x 1. D

X2 A
V3B
XaC

Question ID : 9864494081
Status : Not Answered
Chosen Option : --

Q.51 A 2018 & Fgwa Uo7 AN & wfafsa Tl gow smier (oA )
T FiT AT-IATER 327

‘Which Indian-American is the chairman of the prestigious Federal Communications
Commission (FCC) of the United States as of March 2018?

Ans x 1 AT T

Neomi Rao

Haa 93

Ajit Pai

x o T AT
Seema Verma

x4 rer Tt
Neil Chatterjee

v 2

Question ID : 9864492425
Status : Not Answered
Chosen Option : --

Q52 ymyfers amae @R # argat T wE W @ W B2
Metals are placed on which side of the Modern Periodic Table?

Ans xﬁiﬁmﬁrﬁﬁﬂ

Bottom row
st 3R
Left side
FOq Ofed
Top row

4, ardt 3R

Right side

v &)

X3

x

Question ID : 9864493533
Status : Not Answered
Chosen Option : --




Q.53

Ans

TIﬂ'ABCD Wﬂﬁ'ﬂ'ﬂﬁ%ﬂ'%‘, Fﬂ'coszA - COSZB MEQQ%M’ al e rt. I n Question ID o 9864492556

Tf ABCD is a Cyclic Quadrilateral ,then the value of cos?4 — cos?B — cos?C + cos®D is: Status : Not Answered
( 1.1 Chosen Option : --

X 20
X 32
X4 -1

Q.54

Ans

F Fr b & 9 12 9¢ F1F #=1F gAT T &

16qF © s feet . w1 LA Question ID : 9864492449

w4 & T TN A UF v aew F B 24 G A afoRT s O w e ww Status : Not Answered
N F T S oS S sREHaT S Chosen Option : --

A piece of work can be done by 16 men in 8 days working 12 hours a day. How many
men are needed to complete another work, which is three times the first one, in 24 days

working 8 hours a day?

239589
F ! =

23 men

22 9FY
X2 °

22 men

25 9%
Xa ?

25 men

24 989
o 4 =

24 men

Q.55 _
Tch dic =7 Question ID : 9864493502

Ans

One Watt =72 Status : Not Answered

R Chosen Option : --
i1 3T ufa s
1 erg/sec

PRE G Ui Hehs
1 Joule/sec

o 1 FET ufa s
1m/s

o 1 TTER uld dhs
1 Pascal/sec

Q.56 Tt T 3otk AT FeAHIT 3 R R Fefcpet e 7 A1 oy ST &

Ans

Question ID : 9864493214
Status : Not Answered

= gﬁgﬁ'ﬁq’ Chosen Option : --

The credit for classifying the elements on the basis of their atomic masses goes to:

v &)
Dmitri Mendeleev

x 2 T Seed
John Dalton
i STTgTeT Johe a7 STaiet
| Johann Woligang Dobereiner

John Alexander Reina Newlands

x

x
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: (MasterCard) 3 2018 : Question ID : 9864492348

As 0f 2018, who is the CEO and president of MasterCard? Status : Not Answered

Ans x Hﬂ?ﬁﬁ'm‘g Chosen Option : --
1.

Prabhjot Singh
Waris Ahluwalia
o g
Darsh Singh
| T g
Ajaypal Singh Banga

x

K3

v

OB g ot ST e @ AdTaw . # Question ID : 9864493888

Status : Answered

Chosen Option : 2

wifear 3R S o5 @

wA W | ot | gflor | g |aRaw| seR

40 | 37| 35 27

6 26| 76 86
83 | 71 4 21
D 1 7 3 11

O|m| >

E I S O

The Party which won the highest number of seats is

Parties and seats won
Serial | Party | South | East | West | North
No.

1 A 40 37 35 27

2 B 6 26 76 86

3 C 83 71 4 21

4 D 1 7 3 11
Ans x 1. A
v 2B
X3D
X4C

Q.59
Question ID : 9864493682

Status : Answered

Chosen Option : 4
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Problem Figure

e

Answer Figures
A B C D

Problem Figure (Je=T-31{a)
Answer Figure (3ca-3TgHTd)

From the given four figures choose the correct water image of the below figure.

Problem Figure

KX

Answer Figures

g
Ans X1C

X2 A

X3 B

vD

Q.60 m Eﬂ' a_'_):_

36 —[18 — {14 — (15-4 + 2x2)}]

Solve the following:

36 — 18 — {14 — (15- 4 = 202)}]
Ans  of 121

Question ID : 9864492579
Status : Not Answered
Chosen Option : --

<220
<323
X422
Q.61 ST ¥ o e == ureg
& ¥ I SRR 435 A e Wﬁiﬁaﬁ LLEE Question ID : 9864492560
The least number to be added to 435 to make it a perfect square is? Status : Not Answered
Ans X 1.8 Chosen Option : --
X 24
K33
vi6
Q.62 i T T g HIFAIES § S AT F TTY-TY SRT F @y o gt wa §7
= ¥ ¥ Question ID : 9864493212
Metal oxides which react with acids as well as bases are called:
Status : Not Answered

Ans

x 1 &TORT 3TFATSS
Basic oxides

v TERR e TS
Amphoteric oxides

x5 IFAT TS
Acidic oxides

Chosen Option :
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x o, TGS HIFHES
Neutral oxides

Q.63 e parpe
FIT T AT T2 T I 3cEH TH §? Question ID : 9864492108
Which Indian state is the largest producer of Soyabean? Status : Not Answered

A Chosen Option : --
", IO 92T P

Arunanchal Pradesh
X2 FeTerer et
Himachal Pradesh
7= ger
Madhya Pradesh
YT weer
Andhra Pradesh

v

X 4

Q.64 i ’ ‘
39 ReeT & au Y, S & 78 BT Swen H @rel FIE WA aueslinad® se 404237

Status : Not Answered

{3 {:: }:"’ 2 E“’—" =00 Chosen Option : --

Select the option that will correctly fit in the blank space in the given figure series.

9811 908 | SN LA O A

- T
[
v I
L

Y

Question ID : 9864494067
Status : Answered

Chosen Option : 2
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TfEF T T IFEOT F £

E3CH

FT a55 O §| FO “way fEEndr Avgy #

e

1. T e 985 &l
2. 3o fegrdt ey e

Consider the given statements to be true and decide which of the conclusions logically
follow(s) from the statements.

Statements:
Some carpenters are plumbers. Some plumbers are daily wage labourers.

Conclusions:
1. Some plumbers are carpenters.
2. Some daily wage labourers are plumbers.

xm;ra’ﬂsﬂx;r?rzwwm%l

Ans

Neither 1 nor 2 follows.

1 3R 2 gt e = E
Both 1 and 2 follow.

e TS 2 SFeEoT e

Only conclusion 2 follows.

4aa—=|?~rﬁm:&134§1qmm%l

Only conclusion 1 follows.

v

x

x

Q.66 "D E M N" ¥ msfr 3ewl =7 <uafieg +3F U W e s W 3HHT
&N 38T = gem:

If all the letters “D E M N are arranged to form a meaningful word then the last letter of
the word will be:

Ans me
v 2D
X3 E
K 4N

Question ID : 9864493779
Status : Not Answered
Chosen Option : --

Q.67 afy SFw AT Tar & @ A T87 F 112 & ey F e Brw maw
ar e & frae 9 ek

If T 87 was divided between James and Radha in the ratio 1 : 2, how much money did
Radha get?

Ans  of 1.3 29
X 2357
/< 3.T59
/<4 T58

Question ID : 9864492946
Status : Not Answered
Chosen Option : --

Q.68 IfE x2 + kx + k — 0T FS & 2T & ar k F A 7T § ¥ Fgar
3THTOT HEM?
Ifx? + kx + k = 0 has no solution, then the value of k will satisfy:

A 0<k<4

0<k<4

Question ID : 9864492816
Status : Not Answered
Chosen Option : --
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k<4
k>4
3.
k> 4
k>—4
4.
k> —4

Q.69 2017 # AR AT IRug (FUamE ) @ e arda
AR ® gEGACT d6 PR W ¥ wEea T

‘Which Indian chief minister was awarded the ‘Transformative Chief Minister Award’ by .
US-India Business Council (USIBC) in 20172 Chosen Option : --

Question ID : 9864492357
Status : Not Answered

Ans X 1 Tl TEAT TSR
Naveen Patnaik

g

Siddaramaiah

L ]

Chandrababu Naidu

&% TEAW [T

K. Chandrashekhar Rao

K2

X4

Q.70 P - N ap—
3H W WEE FOAAA F A = R ¢l Question ID : 9864494160

Status : Not Answered

aes Chosen Option : --

O

Select the correct set that represents the following Venn diagram.

ey

N
Ans (1_
O, T Fa=r, AfEg wafag

Office boys, government employees, educated person

SFeT, HeIST, T
X 2 N

Doctors, human beings, cows

g3y, frar, steet
P
Males, fathers, doctors

4%&%1@3{1&3{3%

ol .
Cat, toys, girl

Q.71 ar urgT A 3R B fREr @ A FA 183 7ue Faw el wEw C .
q;taﬁéiﬁrﬂ%d’éﬁ@?ﬁﬁﬂ%maﬂ%mmaﬁwmal Question ID : 9864492811
AT # T T TN o, T A T C # = fr T Fo uel F A SIS T
WET A F g FT R T 3R 1T B @ e RR T 5@ e S s Chosen Option : --

# o7 55 wE W WeT B @ feaer O Famar an?

Two pipes A and B can fill an empty cistern in 18 and 27 hours, respectively. Pipe C can
drain the entire cistern in 45 hours when no other pipe is in operation. Initially, when the
cistern was empty Pipe A and Pipe C were turned on. After a few hours Pipe A was turned
off and Pipe B was turned on instantly. In all, it took 55 hours to fill the cistern. For how
many hours was Pipe B turned on?

Ans ?(" 1. 30



X227
345
X 450

www.govtjobsalert.in

Q.72 15 wr=dr 2018 # IRAR F1 18 37w, 2019 & = &7 = g
15% February 2018 is a Thursday. On what day will 18% April 2019 fall?

Ans
v SIGEIRY
Saturday

ERELRY
X2
Wednesday
AT
X 3
Friday
-
X4
Thursday

Question ID : 9864493034
Status : Not Answered
Chosen Option : --

Q.73 2017 & yerif¥g aRET 3 39-arT A SR 35w A # 1 dws
FieT B7

Who is the author of the Indian English Novel ‘Sita: Warrior of Mithila® published in
2017?

Ans
x 1 T HET
Chetan Bhagat

V> HiFer Furer
" Amish Tripathi
X3 Jfae orAT
Robin Sharma
x o, TE Agar

Rahul Mehta

Question ID : 9864492201
Status : Not Answered
Chosen Option : --

Q.74 37 T &1 &FA AT H oEw ¥ (2, 4), (- 3, - 1) 3 (5, 3) Rw g
an

The area of the triangle whose vertices are given by (2, 4), (— 3, — 1) and (5, 3) is:

Ans x 20 =1 AT
20 sq. units

xgmaﬁsmﬁm

Question ID : 9864492855
Status : Not Answered
Chosen Option : --

A7 576 =T TS FAT & 2

What is the square root of 5767
Ans x 1. 26

Question ID : 9864492663
Status : Answered
Chosen Option : 4
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X 236
X 334
V24




